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(1) y1 = %(sin:ncoszp) D[Sin[x] Cos[x], x]
d .4 - A
(2) yo = T sin® x D[(8in[x]1)"4, x]
d . 4 _ dlogz
3) 1= & sina (6) v = -8
d d o
(4) 3= (e cosa) M =
d «x d
(5) ys = w2l (8) ys = %log(as +Vaz+1)
flx) =23 -322+4 25 5. f[x.]:= x/\3-3x"\2+4
(1) f(z) ZRE R K.
(2) y=f(z) & -3<2 <6 DHEHATY I 7I12H X,
(3) y=f(z) ZWH L, v=—-1TOMPHREZRD X. fdash = D[f[x],x]/.x->-1
(4) y=f(z) Dz =—-1TOEROFHELE g(z) &E L. glx]:= fdash (x+1) + £[-1]
BG)y=fx) 2 y=g(x) Z -3<x<6DHFMHTIZ 71T XK.

Plot[{f[x], glx1}, {x, -3, 6}]
(6) BEF. RegionPlotly > flx] & y < glx], {x, -1, 6}, {y, -10, 60}]

fla)=e 33, y=fx)ty=f(2) % -3<z<3DHFATYZ7I2¥&.
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(1) {xzcos@ 0<0<n

=2
() { x .COSQ (0<6<2n)
y = sin6

ParametricPlot[{Cos[t], Sin[t]}, {t, O, Pi}]

(3) M BHA, B4 v Af K, 7ATu4 F (HEE pl4d-145)
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(1) I :/sin2xdac

w/2
(2) I, :/ sin 2z dx
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(3) Iz :/ e 9% dx
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(5) Is = / cosz(l —sin’z)dr  (t =sinz ¥ BHR)
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(1) z=e 2" (HEIE p158)
(2) z= (a2 —y2)/(z2 +¢?) (FERFE p159)

Integrate[Sin[2 x], x]

Integrate[Sin[2 x], {x, 0, Pi/2}]

Integrate [(x+3)/(x+1)/(x+2), x]

Plot3D[Exp[-x"2 - y"21, {x, -2, 2}, {y, -1, 2}]

flx_] := x"2 - 3;
glx_] := £[x]1/DIf[x], x];
hixn_] := xn - (glx] /. x -> xn)

x1 =2

x2 = N[h[x1], 10]
x3 = N[h[x2], 10]
x4 = N[h[x3], 10]
x5 = N[h[x4], 10]



